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Ecuații logaritmice − 1 − 

log௔ ݔ = ܾ  ⟺ ݔ   = ܽ௕         , ݔ > 0, ܽ > 0, ܽ ≠ 1, ܾ ∈ ℝ 
Logaritmi − proprietăți 

log௔ 1 = 0 log௔ ܽ = 1 log௔ ܽ௡ = ݊ 

log௔ ௡ݔ = ݊ log௔ log௔ ݔ ೙ݔ√ =
1
݊ log௔ log௔೙ ݔ ݔ =

1
݊ log௔  ݔ

log௔ ݔ + log௔ ݕ = log௔ log௔ ݕݔ ݔ − log௔ ݕ = log௔
ݔ
log௔ ݕ ݔ =

1
log௫ ܽ =

lg ݔ
lg ܽ =

ln ݔ
ln ܽ 

 Rezolvați ecuațiile: 
1.  logଶ ݔ = 1 
2.  logଶ ݔ + logଶ(ݔ + 1) = 1 
3.  logଶ ݔ − logଶ(ݔ − 1) = 1 

4.  logଶ ݔ + logସ ݔ + log଼ ݔ =
11
6  

5.  logଶ
ଶ ݔ + logଶ ݔ = 2 

6.  log௫ 5 + log௫ 45 = 2 
7.  lg ݔ = −lg 3 
8.  lg ݔ = −1 
9.  logଶ ݔ = logଶ(ݔଶ + ݔ − 2) 
10.  log௫ 4 = log௫(ݔଶ + ݔ − 2) 
11.  logଶ ݔ + log௫ 2 = 2 
12.  logଶ ݔ + logଷ ݔ = 0 
13.  logହ

ଶ ݔ − 4logହ ݔ + 3 = 0 
14.  ln ݔ = 1 
15.  2 ln ݔ + 1 = 0 
16.  logଶ ݔ)ݔ + 1) = 1 
17.  − logଷ

ଶ ݔ + 11 logଷ ݔ + 12 = 0 

18.  
2 lg ݔ

lg(5ݔ − 4) = 1 

ݔ  .19 ୪୥ ௫ାଵ = 100 
ݔ  .20 ୪୭୥మ ௫ = 2 

 
 
 

1. ݔ = 2 > 0 2. ݔ = 1 > 0 3. ݔ = 2 > 1 4. ݔ = 2 > 0 5. ݔ ∈ ൜
1
4 , 2ൠ 

6. ݔ = 15 > 0, ݔ ≠ 1 7. ݔ =
1
3 > 0 8. ݔ =

1
10 > 0 9. ݔ = √2 > 1 10. ݔ = 2 > 1 

11. ݔ = 2 > 0, ݔ ≠ 1 12. ݔ = 1 > 0 13. ݔ ∈ {5,125} 14. ݔ = ݁ > 0 15. ݔ =
1

√݁
> 0 

16. ݔ ∈ {−2,1} 17. ݔ ∈ ൜
1
3 , 3ଵଶൠ 18. ݔ = 4 >

4
5 , ݔ ≠ 1 19. ݔ ∈ ൜10,

1
100

ൠ 20. ݔ ∈ ൜
1
2 , 2ൠ 

 


